- 63/(SEM-3) Z0O-302

2022
(Held in 2023)
- ZOOLOGY
(Theory Paper) -
Paper Code : ZOO-302
(Animal Physiology and iinmunology) ‘
| Full Marks-80
Pass Marks-32
Time ~ Three hours
The figures in the margin indicate full marks
for the questlons

1. Choose the correct opnons of the follo wing (all
compulsory) | 1x6=6

(a) What is not true about NK cells ?
- (i) Release perforin on target cells

- (ii) Express TCR as do T cells

) Lyse tumour cells and virally infected
cells -

(iV) Expres's Fc receptors
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(b) ‘When 'the biological effect of two cytoicmes
is greater than the summation of thelr

md1v1dual eﬁ'ect is known as .
"(1) Pleiotropy - . (if) Antagonism
(iii) Synergism - (iv) Redundancy

© Bmdmg site in class I MHC molecules for

T cell co-receptor CD8 is
(@ al () a2
- (c) B2-microglobulin (d) a3

d The outermost connective tissue coat covering

a Wh016 Skeletal musc1€ bulk ls caued
(a) Perimysium - (b) Eplmysmm,

(c) Endomysium  (d) Dendromysium

() The central portion of the A-band in a
skeletal muscle fibre is paler in colour, called.

(a) H-band (b) M-band
(c) Z-band (d) I-band

(f) Choose the, correct statement from the

following :

(i) The myosin molecule js composed of six
polypcpﬁde chains—four heavy chams
“and two light Chams
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(ii) The myosin‘molecule is composed of four
polypeptide chains—two heavy chains
and two light chains.

~ (iii) The myosin molecule is composed of six
polypeptide chains-two heavy chains and
four light chains.

(iv) The myosin molecule is composed of six
polypeptide chains-three heavy chains
and three light chains.

Answer the following questions (a! compulsory) :
' . 2x5=10.

(i) What do you mean by Hypervariable region ?
Mention its function. . 1+1=2

(i) What do you mean by Class switching ?

‘Class switching from IgA to IgE and IgG
does not occur’. Elaborate the statement.

1+1=2

(iii) What aré Type I and Type II hypersensitivity ?

. . -2
(iv) Differentiate between. Prothrombin and
Thrombin, | 2

~ {v) What are the differences between intrinsic
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3. Answer ény six of the following Questiong -

(@) Differentiate between the followi;;g pairs -

‘ oy
(i) Antigen and Superantigep, . ,2/2—5
(ii) B-cell and T-cell epitope,

(b) What is Hinge region? Hoy,
structure and function of Jg
Igb/[ 9 l+4=5

(c) Write briefly about the Oxygep dependent
and Oxygen independent Mechanism  of
microbial killing by phagocytogis 5

(d) Explain the mechanism of blood Coagulatio

.does the
G dlffer ﬁ'om

5

& are foupd 9
associated with
144=

(¢) How many types of hypoxi
Discuss the different faCtOI'S

- hypoxia. :
(f) Differentiate between Ne

Urogen;
Myogenic heart. € Me  and

5

You differentiate
vaccines ? 144—5

(8) What is vaccination ? How d,
inactivated and attenuateq

(h) Write short notes on:

() Isograft and Allografy,
patibility antigens,
(ii) Motor and Sensory nerve.
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3+2=5
Major histocom-
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5 x6=30 '
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: s differ from
() How does Chemi?;l Sg:azl note on the
: apsé © . ical synapses
i L S s o
" With a proper diag™™

Ans of the following questions :
Wer any two

10x2=20
d function of the

an LOE
(a) Describe the structure light and da'rk affect
retj 11 of eyes- f rhodopsin.
.ﬂlemginccetional structur® © 5+5=10

«oti f normal
eristics O M
: e char® . " with suitable
(®) What are the % ain s
electrocardll?lgrmn e raté of 8+2=10
. ow ?

glagms.d crom the ECG ‘

etermine jsms of immune

L ec > ¥

(¢) Explain the evasiVe ™" 1 vis.  5+5=10
responses by bacteri? £ tons

the f0 14x1=14

Answer any one of
i d
{oen Processing an
(a) What do you mean by at mechanism of
presentation ? DiscUSS . ation by MHC
antigen processing an¢ iarget cell.

I and MHC 1II to thelf 2+6+6=14

scle with

(b) Describe the structure of el 6+8=14
proper diagram.
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